1. Calculate the potential energy of an electron in the n=2 state of the

e zat L 220 ast
r “r (CG n*d,
- £
- = ¢t 1y £, .A'<,7_ao
= W s &
T (3,95 - 1672 C Sy (5, 202 ¥ ¢ o )

- =f0 ¢ x /0 /S}'

2. The Balmer spectrum of hydrogen (transitions into n=2) has a line of
wavelength 656.7 nm. What is the wavelength of the corresponding line of
deuterium? (mp = 3.3434 x 1027 kg; mux = 1.6727 x 10-¥7 kg; me = 9.1095 x

104 kg)
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3. In the microwave spectrum of '2C1¢0 the separation between lines (Av) has

been measured to be 115270 MHz. Calculate the interatomic distance. o
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